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H1 sensing function measurement: 2019-02-19

He = 3.174e+0611 525103 (ct/m)

= model $ meas.
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He (ct/m) = 3.174e + 06+1888

f.c (Hz) = 397.1+1.822

fs (Hz) = 0.4096+3-298,

0.6512+9328,
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Posterior kernel 0.48**2 * RBF(length scale=1.5); Log-likelihood = 63.270
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B 68% confidence
$ Data
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Magnitude (ct/m)

Phase (deg)

H1 Reference Sensing Model Used: He = 3.05e+06 ct/m, f,c =4.25e+02 Hz, f=0.26 Hz, 0=2.39

10°

50

A
! {
|
\\
\

I & 2019-02-19 = model

Y
10! 102 103

¢ ]

Nlnr\
10! 102 103

Frequency (Hz)

0.10

g

S 0.05

£

@ 0.00

(]

£

~ -0.05

—
~0.10

=
o

U

Phase diff. (meas./model)
I
U o

I
=
o

i
[ )
i.}%‘
4
10! 102 103
M.ﬁ_‘ .
. & I B
i
L J
10! 102 103

Frequency (Hz)



